What Happened When
Two Fruit Companies Merged ?

For each exercise below, find the equation of the line passing through the
given points. Circle the two letters next to the correct equation. Then write these
letters in the two boxes at the bottom of the page that contain the number of
that exercise.

Answers:

® 1.5 @7 (5D y=5x+3
@ 0,1) (3, -8) y=-3x+8
) (2 -3) 4, -2) GD y=%x—7
@) (2,5 (4,2 (ST y=-8x+1
(5) (-3, -5) (-1, 3) y=-3x-4

Answers:

y=%x—1
(D y=3x+3

ALGEBRA WITH PIZZAZZ! OBJECTIVE 5-o0: To find an equation of a line given
160 © Creative Publications two points on that line (not using the graph).



